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EDUCATION
( Major )
Paper : 5.5
{ Statistics in Education )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Fill in the blanks : 1x7=7

SICIRIEY W :

(a) The word ‘statistics’ refers to the
theories and involved in collecting,
summarizing and interpreting
numerical facts.

AR *FACHICE TR A M2, HARPI
= ARE ©0F Ae A2F &R |

(b) is a figure which indicates how
many times a specific score repeats
itself in a given class interval.

_ a9 R, R @m @61 @
sAEE @i i@ 9o T oFRfe «fRge
foed T |
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(c)

(@)

(e)

(g)

2.

Answer the following questions

(2)

Under normal conditions,

represents its group in the most reliable
manner.

Fefie 4Rz 9, 2 AR o 37 v
31 SHEGR wfiES Fésanren dfsfiftg 3 |

The word standard deviation was coined
|0 AMPELE |

Standard deviation *Z| < 25E
Sfafee |

means interrelationship between
two or more variables.

A9 xR R 9 wrele cfeeay af
1 5oRIT A SBTeo |

is the value of perfect or ideal
correlation.

CRC= 3Foief 1 e STt T |

Normal probability curve is
shaped.

PR el e |

T PR T fo

(a)

20A/216

Write the hames of
statistics.

qﬁﬁ$mrﬁmmqqﬁﬁfﬂ¢ﬁﬁ?ﬂﬂﬁ%ﬁr

( Continued )

2x4=8

two types of

(3)

(b) Find out the median from the following
set of scores :
e qIR CAIHE K1 TR I Sfered :

24, 18, 19, 12, 24, 20, 21, 22

(c) The median and mode of a distribution
are 4405 and 42-95 respectively. Find
out the mean.
@ G2 Remm 9ge 9 I=e9ed 9
TG 44-05 SF 42:95. TG I Sfeed |

(d In an entrance examination, a
candidate ranks 35 out of 150
candidates; find out his percentile rank.

51 2@ “RrEe R AI¥E 150 T A1
foqe 35 T TW S IACR; (96 2O
T Tfered |
Answer any three of the following questions :
5x3=15
o 2ppTyEa R e fofom Tes ferd

(a) Write the drawing procedure of
frequency polygon.
AREARS] TLIGI ST 2l TefC o |

() Compute the standard deviation from
the following ungrouped scores :

RCE S ﬁilaﬁﬁiﬁﬁ 91 = A ‘%QI\O
Sfere :
30. 35,36, 39, 42, 91, 46, 38, 34, 35
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(4) (5 )

(c) Write about the positive correlation and 4. (a) Calculate the mean from the following
negative correlation with examples. table by using assumed mean method : 10
CINSE TP OF YIRS ToFm ST God OlferPIq =1 SeeH ql 3o TS Tl
THIRIPTR o147 | TG Tfered]

Class Interval Frequency
- ) SFI Il
(d) Calculate the value of Py, for the given = \5
frequency distribution table : R 6
30-34 9
ar8 KA Ko9q Ofim @1 Pyyq W 25-29 15
Sfored : 20-24 7
' 15-19 5
10-14 3
Class Interval Frequency N =50
il s - Or/ 9%l
110-119 8 2
100-109 (b)) What is median? Compute the median
. i from the following table : 2+8=10
e 15 S T B0 oo e o[ e fef
80-89 20 Ay
70-79 112) Class Interval Frequency
60-69 ' 9 ) SET T
65-69
50-59 5 60-64 3
4049 1 55-59 4
50-54 7
i RS =180 45-49 9
40-44 11
35-39 8
(e} Write ﬁve Ch .
Characteristic 30-34 4
probability curye. SR 25-29 2
20-24 1
2HT[=]7 ;@%—7 oy N =50
O S #1601 ¢ty fara |
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5. (a} (7)

frequenc :
e . y
and write three uses Orm/aesl

(b) Compute the quartile deviation from the
following frequency distribution table
and write three merits of it : 7+3=10

oo TRl el e /[ vede Rpfe
fify 1 % R MBS 1 Sl

am;bMMm[ o fordl
I STy
Class Interval Frequency
1 SEET CIESIETE
80-84 il
75-79 2
70-74 2
65-69 5
60-64 12
55-59 7
50-54 3
45-49 ¢
N =36
___.—-———'—"‘_'__L_'—.——_.—____—
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(8)

6. (a) Find the correlation coefficient between
the following two set of scores using the
product moment method and interpret
the result : 8+2=10

BT T Taferd we far A o o
TR TFE BT Sfel s W% Faqreers 0l
RIREME B

Subject @ A B € B, E LB Gl
TestX :13 12 1010 8 6 6 5
TestYo ol a7 dge i jee 3 o7

D W o~
= N

Or / 531

(b) A student of Class X has got 60 marks
on an achievement test. The mean of the
whole Class is 50 with standard
deviation 5. Find the percentile rank of
the student and write five other
applications of normal probability
curve. 5+5=10

T e FreRl R iy s @i
60 T oS IR I FAGR Mz R
cmwwt‘ﬂﬁsowwﬁgﬁm
5. PrefierE o ¥ SRiea W opuEg
TSIl T W AT e <1 T oy |

L
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